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QUESTION 1

What is the correct way to replace the certificate on an existing vCenter Server that is part of a vCenter HA
configuration?

A. Put the vCenter HA in Maintenance mode, replace the certificate, exit Maintenance mode.
B. Shut down Passive and Witness nodes and replace the certificate on the Active node.

C. Remove the Passive and Witness nodes, replace the certificate, reconfigure the cluster.
D. Replace the certificate while all nodes are participating in the cluster.

Correct Answer: C

QUESTION 2

An administrator is creating a hybrid vSAN cluster with six ESXi hosts equally distributed on three server
racks.

How can this cluster be protected from a single rack failure?

A. Allocate at least two storage controllers in each host.

B. Create at list two disk groups in each host.

C. Allocate at least two flash devices for caching in each disk group.

D. Create three fault domains in the vSAN cluster.

Correct Answer: D

QUESTION 3

Which statement is correct when migrating from a Windows vCenter Server to the vCenter Server Appliance 6.5?
A. Migration deployments do not migrate local OS users from the source vCenter Server.

B. Migration deployments support DHCP on the source vCenter Server.

C. Migration deployments allow the source vCenter Server to remain powered on afterwards.

D. Migration deployments support custom ports for all services on the source vCenter Server.

Correct Answer: A

QUESTION 4

2V0-622 PDF Dumps | 2V0-622 VCE Dumps | 2V0-622 Study Guide 2/4


https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html

VCE & PDF https://lwww.geekcert.com/2v0-622.html
2024 Latest geekcert 2V0-622 PDF and VCE dumps Download

GeekCert.com

Which two configuration options can exclude virtual disks from snapshot operations? (Choose two.)
A. Use RDM in virtual mode for virtual disk.

B. Use virtual disks in Independent - Persistent mode.

C. Use a virtual disk larger than 2 TB in size.

D. Use RDM in physical mode for virtual disk.

Correct Answer: BD

QUESTION 5

ds-lab-vsan14.dsl.vmware.com- Edit Multipathing Policies for naa.600000e00d411000000111cd200110000

Path selection policy

Most Recently Used (VMware)

Round Robun (VMware)
Fixed (VMware)
vmhba30:C3: TO:I ) 4 Active ign. 2000-09 . com tnjitsy.storage-sysl 0

vmhba39:C2: TO:LO ¢ Active (I/O)  ign.2000-09.com.tnjitsy.storage-sysl 0

OK ] Cancel |

Examine the LUN properties that are shown in the exhibit. Which action should be taken to utilize all active paths?
A. Change PSP to Most Recently Used
B. No action required. All paths are already utilized.

C. Change PSP to Fixed.
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D. Change PSP to Round Robin.

Correct Answer: D

The host uses an automatic path selection algorithm rotating through all active paths when connecting to active-passive
arrays, or through all available paths when connecting to active-active arrays. RR is the default for a number of arrays

and can be used with both active-active and active-passive arrays to implement load balancing across paths for different
LUNSs.

2V0-622 PDF Dumps 2V0-622 VCE Dumps 2V0-622 Study Guide

2V0-622 PDF Dumps | 2V0-622 VCE Dumps | 2V0-622 Study Guide 4/4


https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
http://www.tcpdf.org
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html

